% A
& { } Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:

6,223 x 10 = 5,901 x 10 =
7,741 x 10 = 2,685 % 100 =
6,723 x 100 = 1,185 x 10 =
3,958 x 100 = 8,197 x 100 =
7,889 x 10 = 2,88 x 100 =
7,003 x 1000 = 9,503 x 100 =
4,562 % 100 = 2,061 x 10 =
5,02 x 100 = 4,761 x 100 =
10, 764 x 100 = 5,041 x 1000 =
3,738 x 1000 = 9,464 x 10 =

www.snowmath.com


https://www.snowmath.com

% A
& { } Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:

6,223 x 10 =62.23 5,901 x 10 =59.01
7,741 x 10 = 77.41 2,685 x 100 = 268.5
6,723 x 100 =672.3 1,185 x10=11.85
3,958 x 100 = 395.8 8,197 x 100 = 819.7
7,889 x 10 = 78.89 2,88 x 100 = 288
7,003 x 1000 = 7003 9,503 x 100 =950.3
4,562 x 100 = 456.2 2,061 x 10 =20.61
5,02 x 100 = 502 4,761 x 100 = 476.1
10, 764 x 100 = 1076.4 5,041 x 1000 = 5041
3,738 x 1000 = 3738 9,464 x 10 = 94.64
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